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Index: 0, Unicode:

Nodes: 379, Contours: 14
BBox: (0, 0) - (2800, 492)
LSB: 0, RSB: 2, Width: 2802
Isb: 383, rsb: 388, width: 2031
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Index: 2, Unicode: 0063
Nodes: 594, Contours: 32
BBox: (0, 0) - (2764, 640)

LSB: 0, RSB: 34, Width: 2798
Ish: 1003, rsb: 1036, width: 759
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Index: 4, Unicode: 0065
Nodes: 556, Contours: 6
BBox: (0, 0) - (2800, 552)
LSB: 0, RSB: -2, Width: 2798
Isb: 100, rsbh: 92, width: 2606
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Index: 6, Unicode: 0067
Nodes: 384, Contours: 20
BBox: (0, 0) - (2792, 428)

LSB: 0, RSB: 14, Width: 2806
Ish: 1286, rsh: 1306, width: 214
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Index: 8, Unicode: 0069
Nodes: 160, Contours: 2
BBox: (0, -4) - (2798, 460)
LSB: 0, RSB: 4, Width: 2802
Ish: 291, rsh: 299, width: 2212
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Index: 10, Unicode: 006B
Nodes: 124, Contours: 5
BBox: (0, 0) - (2798, 356)
LSB: 0, RSB: 0, Width: 2798
Ish: 35, rsh: 24, width: 2739

m

Index: 12, Unicode: 006D
Nodes: 206, Contours: 4
BBox: (0, 0) - (2794, 456)
LSB: 0, RSB: 4, Width: 2798
Ish: 0, rsh: 4, width: 2794
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Index: 14, Unicode: 006F
Nodes: 218, Contours: 2
BBox: (0, -4) - (2790, 592)
LSB: 0, RSB: 8, Width: 2798
Ish: 16, rsh: 27, width: 2755
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Index: 16, Unicode: 0071
Nodes: 271, Contours: 2
BBox: (0, 0) - (2806, 468)
LSB: 0, RSB: 0, Width: 2806
Ish: 136, rsb: 144, width: 2526
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Index: 18, Unicode: 0073
Nodes: 194, Contours: 2
BBox: (0, 0) - (2802, 512)
LSB: 0, RSB: 0, Width: 2802
Isb: 5, rsb: 6, width: 2791
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Index: 20, Unicode: 0075
Nodes: 368, Contours: 3
BBox: (0, 0) - (2802, 524)
LSB: 0, RSB: 8, Width: 2810
Isb: 2, rsb: 8, width: 2800
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Index: 22, Unicode: 0077
Nodes: 263, Contours: 10
BBox: (0, 0) - (2798, 740)
LSB: 0, RSB: 8, Width: 2806
Isb: 0, rsh: 8, width: 2798
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Index: 24, Unicode: 0079
Nodes: 656, Contours: 34
BBox: (0, 0) - (2806, 548)
LSB: 0, RSB: 0, Width: 2806
Ish: 327, rsh: 321, width: 2158
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Index: 1, Unicode: 0062
Nodes: 158, Contours: 4
BBox: (0, 0) - (2798, 352)
LSB: 0, RSB: 4, Width: 2802
Isb: 641, rsh: 653, width: 1508
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Index: 3, Unicode: 0064
Nodes: 164, Contours: 2
BBox: (0, 4) - (2802, 572)
LSB: 0, RSB: -4, Width: 2798
Ish: 312, rsh: 329, width: 2157
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Index: 5, Unicode: 0066
Nodes: 693, Contours: 14
BBox: (0, 0) - (2800, 564)
LSB: 0, RSB: 6, Width: 2806
Isb: 16, rsh: 22, width: 2768
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Index: 7, Unicode: 0068
Nodes: 380, Contours: 5
BBox: (0, 0) - (2800, 456)
LSB: 0, RSB: -2, Width: 2798
Ish: 141, rsh: 142, width: 2515
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Index: 9, Unicode: 006A
Nodes: 943, Contours: 40
BBox: (0, 0) - (2800, 495)
LSB: 0, RSB: 2, Width: 2802
Isb: 169, rsh: 177, width: 2456
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Index: 11, Unicode: 006C
Nodes: 693, Contours: 14
BBox: (0, 0) - (2800, 564)
LSB: 0, RSB: 2, Width: 2802
Isb: 35, rsh: 39, width: 2728
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Index: 13, Unicode: 006E
Nodes: 208, Contours: 6
BBox: (0, 0) - (2794, 499)
LSB: 0, RSB: 4, Width: 2798
Isb: 68, rsb: 41, width: 2689
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Index: 15, Unicode: 0070
Nodes: 297, Contours: 9
BBox: (0, 0) - (2800, 244)
LSB: 0, RSB: 2, Width: 2802
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Index: 17, Unicode: 0072
Nodes: 247, Contours: 2
BBox: (0, 0) - (2798, 520)
LSB: 0, RSB: -4, Width: 2794
Isb: 56, rsb: 63, width: 2675
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Index: 19, Unicode: 0074
Nodes: 253, Contours: 4
BBox: (0, 0) - (2790, 456)
LSB: 0, RSB: 8, Width: 2798
Ish: 7, rsh: 15, width: 2776
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Index: 21, Unicode: 0076
Nodes: 548, Contours: 12
BBox: (0, 0) - (2802, 620)
LSB: 0, RSB: 0, Width: 2802
Ish: 134, rsb: 134, width: 2534
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Index: 23, Unicode: 0078
Nodes: 652, Contours: 9
BBox: (0, 0) - (2794, 480)
LSB: 0, RSB: 8, Width: 2802
Isb: 31, rsbh: 36, width: 2735
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Index: 25, Unicode: 007A
Nodes: 545, Contours: 5
BBox: (0, 0) - (2794, 552)
LSB: 0, RSB: 4, Width: 2798
Isb: 1, rsbh: 8, width: 2789



